Quiz 4

Name: Student Number:

1. (5 marks)

a) State Kepler's 3 laws. ) .

b) If Saturn has a period of 29.5 years and the distance of the Earth from the sun
is 1.5 x 10® km, use Kepler's third law to estimate Saturn’s distance from the
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b)

d)

(5 marks) Consider two isolated (i.e. very far from any other objects) heavenly
bodies of masses m; and m, separated by a large distance r.

What happens to the gravitational force between the two objects if r triples?
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What happens to the gravitational force between the two objects if m; and m;
both double?
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Qualitatively describe the motion that would occur if two such objects were
initially held motionless and then released.

Given your answer in ¢, why doesn’t that happen to the moon and the Earth?
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Total = 10 marks
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